

City of Tempe

Bid Tabulation

Bid Date 10/25/18
Bid Time 9:00 am

Multi-Use Path from Western Canal to Kyrene Road Project No. 6008411

Base Bid

Item No.	. Item Name	Quantity	Unit	Eng. Est.	AJP ELECTRIC, INC	DBA CONSTRUCTION, INC	STANDARD CONSTRUCTION CO INC	COMBS CONSTRUCTION	HUNTER CONTRACTING CO	STRATTON BUILDERS
				Unit Cost Total Cost	ic, INC	ĬON,	NOI	NOI	ନ CO	
1	Construction Survey	3	LS	\$10,000.00 \$10,000.00	\$9,000.00 \$9,000.00	\$22,050.00 \$22,050.00	\$20,000.00 \$20,000.00	\$84,500.00 \$84,500.00	\$27,150.00 \$27,150.00	\$25,000.00 \$25,000.00
2	Construction Surveying As-Builts	1	LS	\$5,000.00 \$5,000.00	\$4,000.00 \$4,000.00	\$3,650.00 \$3,650.00	\$3,000.00 \$3,000.00	\$10,000.00 \$10,000.00	\$3,530.00 \$3,530.00	\$5,000.00 \$5,000.00
3	Permits and Fees	Î	AL	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00
4	Stormwater Poliution Prevention Plan	Ħ	AL	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
5	Mobilization/ Demobilization	1	LS	\$70,000.00 \$70,000.00	\$80,000.00 \$80,000.00	\$94,262.00 \$94,262.00	\$80,000.00 \$80,000.00	\$120,500.00 \$120,500.00	\$147,000.00 \$147,000.00	\$68,000.00 \$68,000.00
6	Clearing and Grubbing	1	LS	\$1,500.00 \$1,500.00	\$5,000.00 \$5,000.00	\$18,482.00 \$18,482.00	\$30,000.00 \$30,000.00	\$68,500.00 \$68,500.00	\$18,350.00 \$18,350.00	\$75,000.00 \$75,000.00
7	Pathway Excavation	188	CY	\$24.00 \$4,512.00	\$160.00 \$30,080.00	\$47.75 \$8,977.00	\$175.00 \$32,900.00	\$200.00 \$37,600.00	\$135.00 \$25,380.00	\$30.00 \$5,640.00
δ	Subgrade Preparation	72	SY	\$4.00 \$288.00	\$15.00 \$1,080.00	\$20.00 \$1,440.00	\$50.00 \$3,600.00	\$25.00 \$1,800.00	\$13.00 \$936.00	\$32.00 \$2,304.00
9	Asphait Concrete Surface Course (2° of A- 12.5)	8	TŃ	\$60.00 \$480.00	\$200.00 \$1,600.00	\$382.00 \$3,056.00	\$700.00 \$5,600.00	\$550.00 \$4,400.00	\$550.00 \$4,400.00	\$200.00 \$1,600.00
10	Asphalt Concrete Base Course (4* of A-25)	17	TN	\$60.00 \$1,020.00	\$225.00 \$3,825.00	\$234.00 \$3,978.00	\$400.00 \$6,800.00	\$300.00 \$5,100.00	\$410.00 \$6,970.00	\$200.00 \$3,400.00
11	Aggregate Base Course (12*)	48	TN	\$60.00 \$2,880.00	\$32.00 \$1,536.00	\$69.00 \$3,312.00	\$100.00 \$4 ,800.00	\$55.00 \$2,640.00	\$41.50 \$1,992.00	\$35.00 \$1,680.00

12	Stamped Concrete Sidewalk, 6"	457	SF	\$15.00 \$6,855.00	\$9.00 \$4,113.00	\$10.75 \$4,912.75	\$20.00 \$9,140.00	\$23.00 \$10,511.00	\$14.00 \$6,398.00	\$20.00 \$9,140.00
13	Decorative Concrete Pavers	491	SF	\$14.00 \$6,874.00	\$10.00 \$4,910.00	\$15.00 \$7,365.00	\$22.00 \$10,802.00	\$19.00 \$9,329.00	\$23.50 \$11,538.50	\$12.00 \$5,892.00
14	Concrete Sidewalk, 6* (Integral Color)	307	SF	\$12.00 \$3,684.00	\$8.50 \$2,609.50	\$12.00 \$3,684.00	\$15.00 \$4,605.00	\$28.00 \$8,596.00	\$15.50 \$4,758.50	\$16.00 \$4,912.00
15	Vertical Curb & Gutter, MAG 220	139	LF	\$18.00 \$2,502.00	\$27.50 \$3,822.50	\$27.75 \$3,857.25	\$30.00 \$4,170.00	\$55.00 \$7,645.00	\$30.50 \$4,239.50	\$34.00 \$4,726.00
16	Vertical Curb, MAG 222	105	LF	\$18.00 \$1,890.00	\$23.00 \$2,415.00	\$28.00 \$2,940.00	\$30.00 \$3,150.00	\$55.00 \$5,775.00	\$28.50 \$2,992.50	\$27.00 \$2,835.00
17	Concrete Header Curb	1567	LF	\$12.00 \$18,804.00	\$21.00 \$32,907.00	\$17.00 \$26,639.00	\$15.00 \$23,505.00	\$18.00 \$28,206.00	\$18.50 \$28,989.50	\$19.00 \$29,773.00
18	Modified Dual Directional Sidewalk Ramp, COT T-328	156	SF	\$10.00 \$1,560.00	\$22.00 \$3,432.00	\$17.50 \$2,730.00	\$25.00 \$3,900.00	\$40.00 \$6,240.00	\$12.00 \$1,872.00	\$19.00 \$2,964.00
19	Modified Mid-Block Ramp, COT T-322	84	SF	\$10.00 \$840.00	\$22.00 \$1,848.00	\$16.75 \$1,407.00	\$25.00 \$2,100.00	\$60.00 \$5,040.00	\$14.00 \$1,176.00	\$19.00 \$1, 596.00
20	Concrete Sidewalk, 6* MAG 230	19775	SF	\$10.00 \$197,750.00	\$5.65 \$111,728.75	\$5.34 \$105,598.50	\$6.00 \$118,650.00	\$8.00 \$158,200.00	\$8.85 \$175,008.75	\$12.00 \$237,300.00
21	Detectable Warning Device, COT T-329	60	SF	\$5.00 \$300.00	\$55.00 \$3,300.00	\$49.00 \$2,940.00	\$55.00 \$3,300.00	\$40.00 \$2,400.00	\$72.50 \$4,350.00	\$60.00 \$3,600.00
22	Remove Concrete Sidewalk, Driveways & Slabs	2625	SF	\$5.00 \$13,125.00	\$3.00 \$7,875.00	\$3.00 \$7,875.00	\$3.00 \$7,875.00	\$2.00 \$5,250.00	\$6.00 \$15,750.00	\$5.00 \$13,125.00
23	Sawcut & Remove AC Pavement	99	SY	\$50.00 \$4,950.00	\$30.00 \$2,970.00	\$22.00 \$2,178.00	\$35.00 \$3,465.00	\$30.00 \$2,970.00	\$19.00 \$1,881.00	\$27.00 \$2,673.00
24	Remove Existing Fence	533	LF	\$5.00 \$2,665.00	\$3.00 \$1,599.00	\$3.50 \$1,865.50	\$10.00 \$5,330.00	\$12.00 \$6,396.00	\$6.25 \$3,331.25	\$5.00 \$2,665.00
25	Remove Existing Light Pole	1	EA	\$2,000.00 \$2,000.00	\$850.00 \$850.00	\$420.00 \$420.00	\$800.00 \$800.00	\$250.00 \$250.00	\$930.00 \$930.00	\$1,500.00 \$1,500.00
26	Relocate Existing Light Pole	1	EA	\$3,000.00 \$3,000.00	\$1,900.00 \$1,900.00	\$1,700.00 \$1,700.00	\$2,500.00 \$2,500.00	\$1,800.00 \$1,800.00	\$2,980.00 \$2,980.00	\$2,200.00 \$2,200.00
27	Remove Curb & Gutter	151	LF	\$10.00 \$1,510.00	\$6.00 \$906.00	\$6.75 \$1,019.25	\$9.00 \$1,359.00	\$12.00 \$1,812.00	\$8.00 \$1,208.00	\$10.00 \$1,510.00
28	Remove Header Curb	3	LF	\$10.00 \$30.00	\$50.00 \$150.00	\$15.00 \$45.00	\$20.00 \$60.00	\$90.00 \$270.00	\$19.00 \$57.00	\$10.00 \$30.00

29	Remove Trees	6	EA	\$500.00 \$3,000.00	\$1,300.00 \$7,800.00	\$979.00 \$5,874.00	\$1,500.00 \$9,000.00	\$2,500.00 \$15,000.00	\$800.00 \$4,800.00	\$1,200.00 \$7,200.00
30	Traffic Control	1	AL	\$30,000.00 \$30,000.00	\$30,000.00 \$30,000.00	\$30,000.00 \$30,000.00	\$30,000.00 \$30,000.00	\$30,000.00 \$30,000.00	\$30,000.00 \$30,000.00	\$30,000.00 \$30,000.00
31	New Electrical Service	2	EA	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$4,200.00 \$8,400.00	\$4,000.00 \$8,000.00	\$3,500.00 \$7,000.00	\$4,770.00 \$9,540.00	\$10,000.00 \$20,000.00
32	Remove and Salvage Sign Mounted on Streetlight Pole	1	EA	\$100.00 \$100.00	\$80.00 \$80.00	\$125.00 \$125.00	\$9,000.00 \$9,000.00	\$50.00 \$50.00	\$2,824.00 \$2,824.00	\$2,000.00 \$2,000.00
33	Remove Striping, Arrow Pavement Symbols	1	EA	\$70.00 \$70.00	\$65.00 \$65.00	\$80.00 \$80.00	\$350.00 \$350.00	\$55.00 \$55.00	\$105.00 \$105.00	\$300.00 \$300.00
34	Perforated Sign Post	10	EA	\$100.00 \$1,000.00	\$120.00 \$1,200.00	\$150.00 \$1, 500.00	\$150.00 \$1,500.00	\$175.00 \$1,750.00	\$205.00 \$2,050.00	\$275.00 \$2,750.00
35	Sign Post Foundation	10	EA	\$250.00 \$2,500.00	\$150.00 \$1,500.00	\$115.00 \$1,150.00	\$125.00 \$1,250.00	\$95.00 \$950.00	\$105.00 \$1,050.00	\$780.00 \$7,800.00
36	Reflective Traffic Sign Panel	118	SF	\$25.00 \$2,950.00	\$24.00 \$2,832.00	\$32.00 \$3,776.00	\$30.00 \$3,540.00	\$20.00 \$2,360.00	\$25.00 \$2,950.00	\$30.00 \$3,540.00
37	Remove Striping	438	LF	\$2.25 \$985.50	\$6.00 \$2,628.00	\$1.00 \$4 38.00	\$6.00 \$2,628.00	\$4.50 \$1,971.00	\$0.90 \$394.20	\$3.00 \$1,314.00
38	White Stripe 90Mil Thermoplastic 4" Equiv	981	LF	\$1.50 \$1,471.50	\$1.00 \$981.00	\$0.60 \$588.60	\$1.50 \$1,471.50	\$0.80 \$784.80	\$0.60 \$588.60	\$5.00 \$4,905.00
39	Yellow Stripe 90Mil Thermoplastic 4" Equiv	200	LF	\$1.50 \$300.00	\$1.00 \$200.00	\$0.60 \$120.00	\$1.50 \$300.00	\$0.80 \$160.00	\$2.55 \$510.00	\$5.00 \$1,000.00
40	Pavement Symbol (Extruded Thermoplastic) (ALKYD) (0.090")	1	EA	\$125.00 \$125.00	\$138.00 \$138.00	\$295.00 \$295.00	\$350.00 \$350.00	\$110.00 \$110.00	\$205.00 \$205.00	\$300.00 \$300.00
41	Eiectrical Service Cabinet	1	EA	\$5,000.00 \$5,000.00	\$4,000.00 \$4,000.00	\$3,660.00 \$3,660.00	\$3,500.00 \$3,500.00	\$2,800.00 \$2,800.00	\$4,150.00 \$4,150.00	\$5,000.00 \$5,000.00
42	Electrical Service Cabinet Foundation	1	EA	\$1,000.00 \$1,000.00	\$400.00 \$400.00	\$810.00 \$810.00	\$1,200.00 \$1,200.00	\$900.00 \$900.00	\$1,480.00 \$1,480.00	\$2,000.00 \$2,000.00
43	Traffic Signal Pole, (Q Pole 40' Mast Arm w/ Luminaire) (ADOT)	1	EA	\$8,500.00 \$8,500.00	\$9,000.00 \$9,000.00	\$11,800.00 \$11,800.00	\$10,000.00 \$10,000.00	\$11,000.00 \$11,000.00	\$12,650.00 \$12,650.00	\$14,800.00 \$14,800.00
44	Traffic Signal Pole, (Q Pole 35' Mast Arm w/Luminaire) (ADOT)	1	EA	\$8,500.00 \$8,500.00	\$8,625.00 \$8,625.00	\$11,700.00 \$11,700.00	\$11,000.00 \$11,000.00	\$10,000.00 \$10,000.00	\$12,420.00 \$12,420.00	\$13,800.00 \$13,800.00
45	Traffic Signal Pole, (Push Button Pole and SIgn) (T-577	2	ÉA	\$1,200.00 \$2,400.00	\$800.00 \$1,600.00	\$2,200.00 \$4,400.00	\$3,800.00 \$7,600.00	\$500.00 \$1,000.00	\$4,445.00 \$8,890.00	\$600.00 \$1,200.00

46	Traffic Signal Face, (Ped Hybrid Beacon) (ADOT)	6	EA	\$800.00 \$4,800.00	\$685.00 \$4,1 10.00	\$920.00 \$5,520.00	\$700.00 \$4,20 0.00	\$1,150.00 \$6,900.00	\$850.00 \$5,100.00	\$1,500.00 \$9,000.00
47	Illuminated Street Name Signs	2	EA	\$600.00 \$1,200.00	\$6,000.00 \$12,000.00	\$8,300.00 \$16,600.00	\$7,500.00 \$15,000.00	\$6,000.00 \$12,000.00	\$8,590.00 \$17,180.00	\$7,500.00 \$15,000.00
48	Traffic Singal Mounting Assembly (Type VII) (ADOT)	2	EA	\$550.00 \$1,100.00	\$400.00 \$800.00	\$7C4.00 \$1,408.00	\$550.00 \$1,100.00	\$600.00 \$1,200.00	\$675.00 \$1,350.00	\$8,000.00 \$16,000.00
49	Traffic Signal Mounting Assembly (Type II) (ADOT)	4	EA	\$200.00 \$800.00	\$120.00 \$480.00	\$170.00 \$680.00	\$150:00 \$600.00	\$225.00 \$900.00	\$184.00 \$736.00	\$400.00 \$1,600.00
50	Traffic Signal Face (Pedestrian) (ADOT)	2	EA	\$500.00 \$1,000.00	\$500.00 \$1,000.00	\$530.00 \$1,060.00	\$450.00 \$900.00	\$550.00 \$1,100.00	\$562.00 \$1,124.00	\$800.00 \$1,600.00
51	Pole Foundations, Type 'Q' (ADOT T.S. 4-10)	2	EA	\$3,000.00 \$6,000.00	\$2,600.00 \$5,200.00	\$3,500.00 \$7,000.00	\$1,100.00 \$2,200.00	\$2,500.00 \$5,000.00	\$1,246.00 \$2,492.00	\$2,800.00 \$5,600.00
52	Pole Foundations, Push Button Pole (T-577)	2	EA	\$450.00 \$900.00	\$580.00 \$1,160.00	\$800.00 \$1,600.00	\$450.00 \$900.00	\$800.00 \$1,600.00	\$522.00 \$1,044.00	\$900.00 \$1,800.00
53	Control Cabinet Foundation	1	EA	\$2,000.00 \$2,000.00	\$1,150.00 \$1,150.00	\$1, 100.00 \$1, 100.00	\$1,800.00 \$1,800.00	\$1,600.00 \$1,600.00	\$2,090.00 \$2,090.00	\$2,500.00 \$2,500.00
54	Control Cabinet	1	EA	\$20,000.00 \$20,000.00	\$35,000.00 \$35,000.00	\$45,250.00 \$45,250.00	\$38,000.00 \$38,000.00	\$35,000.00 \$35,000.00	\$46,460.00 \$46,460.00	\$37,500.00 \$37,500.00
55	No. 7 Pull Box, COT T-453	1	EA	\$500.00 \$500.00	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00	\$800.00 \$800.00	\$800.00 \$800.00	\$940.00 \$940.00	\$750.00 \$750.00
56	No. 7 Pull Box, with Extension	1	EA	\$700.00 \$700.00	\$675.00 \$675.00	\$1,200.00 \$1,200.00	\$1,100.00 \$1,100.00	\$900.00 \$900.00	\$1,221.00 \$1,221.00	\$850.00 \$850.00
57	Luminaire Horizontal Mount, 16,200 Lumen LED	2	EA	\$700.00 \$1,400.00	\$740.00 \$1,480.00	\$1,100.00 \$2,200.00	\$450.00 \$900.00	\$500.00 \$1,000.00	\$515.00 \$1,030.00	\$3,500.00 \$7,000.00
58	Conductors	:1	LS	\$10,000.00 \$10 ,000.00	\$6,400.00 \$6,400.00	\$10,200.00 \$10,200.00	\$12,500.00 \$12,500.00	\$6,000.00 \$6,000.00	\$11,250.00 \$11,250.00	\$8,000.00 \$8,000.00
59	Electrical Conduit (2*) (PVC)	143	LF	\$14.00 \$2,002.00	\$18.00 \$2,574.00	\$14.00 \$2,002.00	\$35.00 \$5,005.00	\$26.00 \$3,718.00	\$40.00 \$5,720.00	\$30.00 \$4,29C.00
60	Electrical Conduit (201/2*) (PVC)	8	LF	\$15.00 \$120.00	\$20.00 \$160.00	\$32.00 \$256.00	\$40.00 \$320.00	\$26.00 \$208.00	\$48.00 \$384.00	\$30.00 \$240.00
61	Electrical Conduit (3") (PVC)	48	LF	\$40.00 \$1,920.00	\$22.00 \$1,056.00	\$40.00 \$1,920.00	\$45.00 \$2,160.00	\$19.00 \$912.00	\$56.00 \$2,688.00	\$25.00 \$1,200.00
62	Electrical Conduit (1-3") (Bore Under AC Pavement)	196	LF	\$60.00 \$11,760.00	\$42.00 \$8,232.00	, \$50.00 \$9,800.00	\$60.00 \$11,760.00	\$37.00 \$7,252.00	\$72.00 \$14,112.00	\$40.00 \$7,840.00

63	Conduit PVC #40 1*	140	LF	\$4.82 \$674.80	\$12.00 \$1,680.00	\$14.00 \$1,960.00	\$20.00 \$2,800.00	\$26.00 \$3,640.00	\$24.00 \$3,360.00	\$30.00 \$4,200.00
64	Ground Rod, 3/4*x10" Copper Clad	2	EA	\$47.00 \$94.00	\$120.00 \$240.00	\$114.00 \$228.00	\$150.00 \$300.00	\$80.00 \$160.00	\$136.00 \$272.00	\$150.00 \$300.00
65	Ground Wire Bare CU Solid #4	20	LF	\$0.69 \$13.80	\$3.00 \$60.00	\$5.00 \$100.00	\$3.00 \$60.00	\$3.00 \$60.00	\$4.00 \$80.00	\$15.00 \$300.00
66	Light Fixture, Solar, LED Light, 20' S Pole	27	EA	\$5,064.00 \$136,728.00	\$7,800.00 \$210,600.00	\$9,500.00 \$256,500.00	\$9,500.00 \$256,500.00	\$8,500.00 \$229,500.00	\$11,500.00 \$310,500.00	\$9,500.00 \$256,500.00
67	Pull String	150	LF	\$0.12 \$18.00	\$1.00 \$150.00	\$1.25 \$187.50	\$1.50 \$225.00	\$1.10 \$165.00	\$1.60 \$240.00	\$1.50 \$225.00
68	SES 120/240V, 1 PH, 3W, 200A, 22KAIC W/100A Panel	1	EA	\$4,000.00 \$4,000.00	\$5,000.00 \$5,000.00	\$5,100.00 \$5,100.00	\$2,800.00 \$2,800.00	\$3,500.00 \$3,500.00	\$3,175.00 \$3,175.00	\$5,000.00 \$5,000.00
69	Trench/ Backfill, 8*x24*	125	LF	\$5.23 \$653.75	\$18.00 \$2,250.00	\$14.00 \$1,750.00	\$20.00 \$2,500.00	\$20.00 \$2,500.00	\$12.00 \$1,500.00	\$30.00 \$3,750.00
70	4' Chain Link Fence	648	LF	\$40.00 \$25,920.00	\$21.50 \$13,932.00	\$22.50 \$14,580.00	\$25.00 \$16,200.00	\$16.00 \$10,368.00	\$22.70 \$14,709.60	\$30.00 \$19,440.00
71	16' Driveway Entrance, Modified COT T-328	400	SF	\$10.00 \$4,000.00	\$12.00 \$4,800.00	\$10.50 \$4,200.00	\$15.00 \$6,000.00	\$28.00 \$11,200.00	\$11.00 \$4,400.00	\$16.00 \$6,400.00
72	Landscape and Irrigation System Modification	1	LS	\$8,000.00 \$8,000.00	\$11,565.00 \$11,565.00	\$32,500.00 \$32,500.00	\$35,000.00 \$35,000.00	\$10,000.00 \$10,000.00	\$1,300.00 \$1,300.00	\$10,000.00 \$10,000.00
73	Decomposed Granite, (1/2* Screened)	22239	SF	\$0.55 \$12,231.45	\$0.75 \$16,679.25	\$0.75 \$16,679.25	\$0.75 \$16,679.25	\$0.53 \$11,786.67	\$0.65 \$14,455.35	\$1.00 \$22,239.00
74	Shrubs, 5-Gal	361	EA	\$25.00 \$9,025.00	\$39.00 \$14,079.00	\$22.00 \$7,942.00	\$25.00 \$9,025.00	\$22.00 \$7,942.00	\$24.40 \$8,808.40	\$25.00 \$9,025.00
75	Shade Structure	1	EA	\$20,625.00 \$20,625.00	\$36,000.00 \$36,000.00	\$26,500.00 \$26,500.00	\$59,000.00 \$59,000.00	\$19,000.00 \$19,000.00	\$28,000.00 \$28,000.00	\$24,480.00 \$24,480.00
76	Turf Seeding	4424	SF	\$0.15 \$663.60	\$0.40 \$1,769.60	\$2.75 \$12,166.00	\$3.50 \$15,484.00	\$1.00 \$4,424.00	\$0.25 \$1,106.00	\$0.50 \$2,212.00
77	Irrigation Emitters, Multi-Outlet	120	EA	\$25.00 \$3,000.00	\$39.00 \$4,680.00	\$35.00 \$4,200.00	\$39.50 \$4,740.00	\$23.00 \$2,760.00	\$27.02 \$3,242.40	\$100,00 \$12,000.00
78	Iπigation Drip Valve Assembly	31	EA	\$500.00 \$500.00	\$630.00 \$630.00	\$925.00 \$ 925.00	\$1,100.00 \$1,100.00	\$330.00 \$330.00	\$1,113.00 \$1,113.00	\$500.00 \$500.00
79	Irrigation Ball Valve, 1*	1	EA	\$350.00 \$350.00	\$416.00 \$416.00	\$275.00 \$275.00	\$360.00 \$360.00	\$285.00 \$285.00	\$110.00 \$110.00	\$500.00 \$500.00

80	Irrigation Piping, 3/4"	1708	LF	\$1.75 \$2,989.00	\$2.60 \$4,440.80	\$3.25 \$5,551.00	\$4.00 \$6,832.00	\$2.50 \$4,270.00	\$2.00 \$3,416.00	\$6.00 \$10,248.00
81	Irrigation Piping, 1"	830	LF	\$2.25 \$1,867.50	\$3.90 \$3,237.00	\$4.75 \$3,942.50	\$6.00 \$4,980.00	\$2.50 \$2,075.00	\$4.60 \$3,818.00	\$8.00 \$6,640.00
82	Irrigation Sleeving, 2"	12	LF	\$3.00 \$36.00	\$25.00 \$300.00	\$12.00 \$144.00	\$14.00 \$168.00	\$85.00 \$1,020.00	\$22.50 \$270.00	\$10.00 \$120.00
83	Irrigation Flush Valve	2	EA	\$60.00 \$120.00	\$130.00 \$260.00	\$75.00 \$150.00	\$200.00 \$400.00	\$43.00 \$86.00	\$95.00 \$190.00	\$500.00 \$1,000.00
84	Golf Screen	398	LF	\$120.00 \$47,760.00	\$180.00 \$71,640.00	\$175.00 \$69,650.00	\$200.00 \$79,600.00	\$140.00 \$55,720.00	\$189.00 \$75,222.00	\$188.00 \$74,824.00
85	Protective Railing, Canal Bridge	49	LF	\$86.00 \$4,214.00	\$110.00 \$5,390.00	\$180.00 \$8,820.00	\$140.00 \$6,860.00	\$165.00 \$8,085.00	\$218.00 \$10,682.00	\$125.00 \$6,125.00
86	Drinking Fountain	1	EA	\$8,000.00 \$8,000.00	\$6,500.00 \$6,500.00	\$5,500.00 \$5,500.00	\$10,000.00 \$10,000.00	\$5,500.00 \$5,500.00	\$7,150.00 \$7,150.00	\$5,000.00 \$5,000.00
87	Trash Rack MAG 502	4	EA	\$350.00 \$1,400.00	\$665.00 \$2,660.00	\$850.00 \$3,400.00	\$3,000.00 \$12,000.00	\$450.00 \$1,800.00	\$560.00 \$2,240.00	\$2,000.00 \$8,000.00
88	24° RGRCP	30	LF	\$120.00 \$3,600.00	\$125.00 \$3,750.00	\$95.00 \$2,850.00	\$275.00 \$8,250.00	\$180.00 \$5,400.00	\$164.00 \$4,920.00	\$100.00 \$3,000.00
89	30" RGRCP	20	LF	\$120.00 \$2,400.00	\$150.00 \$3,000.00	\$130.00 \$2,600.00	\$300.00 \$6,000.00	\$225.00 \$4,500.00	\$235.00 \$4,700.00	\$140.00 \$2,800.00
90	36" RGRCP	71	LF	\$120.00 \$8,520.00	\$170.00 \$12,070.00	\$80.00 \$5,680.00	\$350.00 \$24,850.00	\$225.00 \$15,975.00	\$222.00 \$15,762.00	\$180.00 \$12,780.00
91	Pipe Collar, MAG 505	4	EA	\$260.00 \$1,040.00	\$900.00 \$3,600.00	\$825.00 \$3,300.00	\$1,500.00 \$6,000.00	\$1,000.00 \$4,000.00	\$3,200.00 \$12,800.00	\$2,000.00 \$8,000.00
92	Headwall, MAG 501-1 Type "U"	4	EA	\$2,000.00 \$8,000.00	\$3,815.00 \$15,260.00	\$3,100.00 \$12,400.00	\$6,000.00 \$24,000.00	\$6,500.00 \$26,000.00	\$6,400.00 \$25,600.00	\$3,500.00 \$14,000.00
93	Valve Box and Cover Adjustment, Cast Iron	3	EA	\$500.00 \$1,500.00	\$400.00 \$1,200.00	\$750.00 \$2,250.00	\$500.00 \$1,500.00	\$625.00 \$1,875.00	\$320,00 \$960.00	\$1,000.00 \$3,000.00
94	Water Service Conncection, 3/4 Inch, COT T-212	1	EA	\$3,000.00 \$3,000.00	\$1,500.00 \$1,500.00	\$1,250.00 \$1,250.00	\$1,500.00 \$1,500.00	\$1,200.00 \$1,200.00	\$1,100.00 \$1,100.00	\$3,000.00 \$3,000.00
95	Backflow Preventer with Enclosure (3/4*) & Pad, COT T-213	1	EA	\$2,250.00 \$2,250.00	\$1,800.00 \$1,800.00	\$1,900.00 \$1,900.00	\$1,700.00 \$1,700.00	\$1,500.00 \$1,500.00	\$5,475.00 \$5,475.00	\$2,500.00 \$2,500.00
96	Water Meter, COT T-212	1	EA	\$1,000.00 \$1,000.00	\$1,500.00 \$1,500.00	\$750.00 \$750.00	\$1,100.00 \$1,100.00	\$1,200.00 \$1,200.00	\$2,240.00 \$2,240.00	\$3,000.00 \$3,000.00

										
97	Valley Gutter, MAG 240	609	SF	\$10.00	\$11.00	\$11.00	\$12.00	\$14.00	\$15.50	\$16.00
				\$6,090.00	\$6,699.00	\$6,699.00	\$7,308.00	\$8,526.00	\$9,439.50	\$9,744.00
98	Mounting Pedestal For Future Light Column	2	EA	\$500.00	\$1,400.00	\$1,150.00	\$1,200.00	\$1,500.00	\$1,310.00	\$1,500.00
				\$1,000.00	\$2,800.00	\$2,300.00	\$2,400.00	\$3,000.00	\$2,620.00	\$3,000.00
99	Access Control Swing Gate	2	EA	\$2,200.00	\$2,730.00	\$1,500.00	\$3,000.00	\$2,000.00	\$2,840.00	\$3,600.00
				\$4,400.00	\$5,460.00	\$3,000.00	\$6,000.00	\$4,000.00	\$5,680.00	\$7,200.00
100	Wireless Mesh Radio	1	EA	\$7,700.00	\$2,750.00	\$3,500.00	\$2,500.00	\$5,000.00	\$3,030.00	\$10,000.00
				\$7,700.00	\$2,750.00	\$3,500.00	\$2,500.00	\$5,000.00	\$3,030.00	\$10,000.00
		Total B	ase Bid:	\$859,506.90	\$975,330.40	\$1,069,325.10	\$1,242,066.75	\$1,254,063.47	\$1,314,382.55	\$1,331,796.00
*										